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QUESTION 1

What is NOT a component of VSD? 

A. Neutron 

B. Statistics Engine 

C. Policy Management Engine 

D. RESTful API 

Correct Answer: C 

Reference: 

https://www.nuagenetworks.net/wp-content/uploads/2020/06/ 

PR1507013354EN_NN_RedH_Open_Hybrid_Clouds_PartnerSolutionBrief.pdf 

 

QUESTION 2

Refer to the diagram. Which statement is describing a step incorrectly? 

4A0-N01 VCE Dumps | 4A0-N01 Exam Questions | 4A0-N01 Braindumps                                2 / 5

https://www.leads4pass.com/4a0-n01.html
https://www.leads4pass.com/4a0-n01.html
https://www.leads4pass.com/4a0-n01.html


https://www.leads4pass.com/4a0-n01.html
2024 Latest leads4pass 4A0-N01 PDF and VCE dumps Download

A. Step a, which consists of defining network domain and policy templates on VSD, must be performed first in all
situations. 

B. Step d, which refers to the VRS agent informing the VSC of the placement of a new VM, is triggered by step f in
which the VM is instantiated on a hypervisor. 

C. Step b, in which the VSC queries VSD on network service and policies required for a new VM, is triggered either by
API calls from the CMS or by manual configuration. 

D. Step e, in which the forwarding tables are deployed, consists of the VSC sending them not only to the VRS agent
hosting the new VM, but to all applicable VRS agents. 

Correct Answer: D 
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QUESTION 3

Which statement correctly describes cloud computing? 

A. Services are statically provisioned by a cloud service provider. 

B. Services are offered as needed through the Internet. 

C. SDN is the key enabler for cloud computing. 

D. It provides convenient, permanent network access to a shared pool of computing resources. 

Correct Answer: D 

Cloud computing is a model for enabling convenient, on-demand network access to a shared pool of configurable
computing resources. 

Reference: https://www.ibm.com/blogs/cloud-computing/2014/02/04/cloud-computing-basics-2/ 

 

QUESTION 4

Which VSD component provides a south-bound interface for communication with the VSC? 

A. VSD Mediator 

B. Statistics Engine 

C. Policy Management Engine 

D. RESTful API 

Correct Answer: A 

VSD mediator is a VSD Southbound interface used for communication to the VSC. Reference:
https://matscloud.blogspot.com/2017/06/nuage-networks-vsp-deep-dive.html 

 

QUESTION 5

Which protocol is used for VSC federation? 

A. BGP VPN-IPv4 

B. BGP EVPN 

C. Openflow 

D. XMPP 

Correct Answer: C 
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The VSC uses standard protocols to peer with existing networks, allowing it to discover full network topology and
reachability. Through Openflow, it distributes relevant switching and routing information to hypervisors within the
virtualized datacenter network. 

Reference: http://www.nuagenetworks.net/wp-content/uploads/2015/08/NuageNetworks-ArchitectureWhite-Paper.pdf 

4A0-N01 VCE Dumps 4A0-N01 Exam Questions 4A0-N01 Braindumps

Powered by TCPDF (www.tcpdf.org)

4A0-N01 VCE Dumps | 4A0-N01 Exam Questions | 4A0-N01 Braindumps                                5 / 5

https://www.leads4pass.com/4a0-n01.html
https://www.leads4pass.com/4a0-n01.html
https://www.leads4pass.com/4a0-n01.html
http://www.tcpdf.org
https://www.leads4pass.com/4a0-n01.html
https://www.leads4pass.com/4a0-n01.html
https://www.leads4pass.com/4a0-n01.html

